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1. The daily profit and loss of STC Inc. are given as follows:

	-54
	26
	13
	41
	22

	38
	-39
	-45
	20
	-18


Find the average profit levels. Given that the standard deviation 
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 = 35.96, test the hypothesis that the average profit is zero, at 10% significance level.

Step 1:

Find the sample mean

Step 2:

State the null and the alternate hypothesis

Step 3:

Calculate the test statistics
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Step 4:
From the “t” distribution, find the critical values at 10% level of significance (df = 9)

Step 5:

Write the conclusions

1.  (t lies in which region)

2. (statistical significance of sample mean)

3. (accept /reject the null hypothesis)

2.  The age of patients is Blue Cross Hospital ward is as follows:

	38
	26
	13
	41
	22


Given that the standard deviation is 10.3. Test the hypothesis that the mean age is 30 years at 5% level of significance (df = 4).

Step 1:

Find the sample mean

Step 2:

State the null and the alternate hypothesis

Step 3:

Calculate the test statistic
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Step 4:

Check the t distribution 

Step 5:

Write conclusion

1.

2.

3.
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